
Model Question Paper  Set- II 

CLASS - IX 
MATHEMATICS 

01. π  D;k gS\

(a) ifjes; la[;k    (b) vifjes; la[;k    (c) iw.kZ la[;k (d) buesa ls dksbZ ugha

What is π \ 
(a) Rational Number  (b) Irrational Number

(c) Whole Number     (d) None of there

02. 36

100
dk n’keyo Álkj gS &

(a) lkar (b) vuolkuh vkoÙkhZ  (c) vuolkuh vukoÙkhZ (d) buesa ls dksbZ ugha

Decimal expansion of 
36

100
is - 

(a) Terminating    (b) Non terminating recurring

(c) Non terminating non recurring    (d) None of there

03. ( ) ( )5 5 5 5+ −  cjkcj gS &

( ) ( )5 5 5 5+ −  is equal to .

(a) 5 (b) 5   (c)   10    (d)  20

04. 2 1

3 32 2×  dk eku gksxk % 

The value of  
2 1

3 32 2×  will be : 

(a) 0 (b) 1 (c) 2     (d) 3

05. buesa ls dkSu ,d pj esa cgqin gS\

Which of these is a linear polynomial?

(a) 24 3 7x x− +     (b) 3 2t t+    (c) 
2

y
y

+ (d) 10 3 10x y t+ +

06. 22 x x+ + esa 2
x  dk xq.kkad gS & 

The co efficient of 2
x  in 22 x x+ +  is :

(a) 0     (b) 1 (c) 2     (d) -1
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07.  0x =  ds fy, cgqin 25 4 3x x− +  dk eku gksxk & 

The value of polynomial 25 4 3x x− +  for 0x = : 

(a) 0      (b)  3      (c) 4         (d) 5 

 

08.  D;k ( 1)x + , 3 2 1x x x+ + +  dk xq.ku[kaM gS\  

Is ( 1)x +  factor of 3 2 1x x x+ + + - 

(a) gk¡ (yes)   (b) ugha (No)   (c)  lwpuk vi;kZIr (Insufficient data)  

(d) buesa ls dksbZ ugha (None of these) 

 

09.  ;fn 0x y z+ + =  rks 3 3 3x y z+ + =  

If  0x y z+ + =   then  3 3 3x y z+ + =  

(a) xyz  (b)  3xyz   (c)  2xyz    (d) 0 

 

10.  -2x + 3y = 6 dks ax +by+ c = 0 esa O;ä djus ij a, b vkSj  c dk eku gksxk & 

To express -2x + 3y = 6 in the form of ax +by +c = 0. The value of a, b and c 

will be - 

(a) a = 2, b =3, c = 6   (b)  a = 2, b =3, c = 6   

(c) a = -2, b = 3, c = -6   (d)  a = -2, b = -3, c = -6  

 

11.  3 5y x= + ds fy, dkSu&lk fodYi lR; gS & 

(a) ,d vf}rh; gy gSA   (b) dsoy nks gy gSaA    

(c)   vifjfer #i ls vusd gy gSaA   (d) buesa ls dksbZ ughaA 

For y = 3x + 5 which one of the following option is true - 

(a) A unique solution   (b) Only two solutions    

(c)  Infinitely many solutions   (d) None of these 

 

12.  x + y = 4  dk gy gSA 

The solution of  x + y = 4 is  – 

(a) x = 1,  y = 3    (b)  x = 0, y = 0    (c) x = 4, y = 1  (d)  x = 1, y = 4   

 

13.  x  v{k dk lehdj.k gS & 

The equation of  x – axis is - 

(a)   x = 0       (b)  y = 0           (c) x = b           (d)  y = b       
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14.  funsZ’kkad (-2, 4) dk Hkqt gSA 

The abscissa of co-ordinate (-2, 4) is 

(a) -2       (b)  4         (c)  0        (d) (4, -2) 

 

 

15.  vkÑfr esa (3, -1) dk funsZ’kkad dks dkSu lk fcanq Ánf’kZr djrk gSA 

 In figure which point shows the co-ordinate of the point  (3, -1) 

 

 

 

 

 

 

 

16.  ,d fn;s gq, fcanq ls gksdj fdruh js[kk,¡ tk ldrh gS\ 

(a) ,d   (b) nks   (c) vuUr    (d) buesa ls dksbZ ugha 

How many lines can pass through a given point? 

(a) One   (b)  Two   (c)  Infinitely    (d) None of these 

 

17.  540 dk lEiwjd dks.k dk eku fyf[k, % 

(a) 460000    (b)  260000  (c)  1260000   (d)  360000 

Write the supplement angle of 54
0
 

(a) 46
0
    (b) 26

0
   (c) 126

0
   (d) 36

0
 

  

18.  ;fn ,d dks.k vius iwjd ds vk/ks ls 300000 vf/kd gks rks dks.k dh eki D;k gS\ 

(a)  600000   (b) 500000   (c) 300000   (d) 400000 

If an angle is 30
0
 more than one half of its complement, then what is measure 

of angle? 

(a) 60
0
   (b) 50

0
  (c) 30

0
   (d)  40

0
 

 

19.  vkÑfr esa AOB ,d js[kk gSA x dk eku gS % 

In figure AOB is a line. The value if x is : 

 

 

(a) 90
0
  (b) 20

0
  (c) 180

0
  (d) 70

0 

 

https://byjus.com/?utm_source=pdf%20click
https://byjus.com/?utm_source=pdf%20click


 

20.  ;fn AB = QR, BC = PR vkSj CR = PQ gS rks & 

(a) ABC PQR∆ ≅ ∆                                (b) CBA PRQ∆ ≅ ∆   

(c) BAC RPQ∆ ≅ ∆                                 (d) PQR BCA∆ ≅ ∆  

 

  If AB = QR, BC = PR and CR = PQ,  then 

(a) ABC PQR∆ ≅ ∆                                 (b) CBA PRQ∆ ≅ ∆   

(c) BAC RPQ∆ ≅ ∆                                  (d) PQR BCA∆ ≅ ∆  

 

21.  ABC∆  esa AB = AC  vkSj 245B∠ =  rc C∠ cjkcj gS & 

In ABC∆ , AB = AC and 245B∠ =  then C∠  equal to : 

(a) 40
0
   (b) 45

0
   (c) 50

0
  (d) 135

0
 

 

22.  f=Hkqt ABC vkSj DEF esa AB = FD rFkk A D∠ = ∠  gSA nksuksa f=Hkqt SAS vfHkx̀fgr ls 

lokZaxle gksaxs] ;fn &  

In triangles ABC and DEF, AB = FD and A D∠ = ∠ - The two triangles will be 

congruent by SAS axism, if - 

(a) BC = EF   (b) AC = DE   (c) AC = EF   (d) BC = DE  

 

23.  ;fn APB vkSj CQD nks lekarj js[kk,¡ gSa rks dks.kksa APQ, BPQ, CQP vkSj PQD ds 

lef}Hkktd cukrs gSa %       

(a) ,d oxZ    (b) leprqHkZt  (c) ,d vk;r   (d)  dksbZ vU; lekarj prqHkZt 

If APB and CQD and two parallel lines, then the bisectors of the angles APQ, 

BPQ, CQP and PQD form : 

(a) A square     (b)  A rhombus     

(c)  A rectangle   (d)  Any other parallelogram 

 

24.  D vkSj E Øe’k% ABC∆  dh Hkqtk AB vkSj AC ds e/;&fcUnq gSa rFkk O Hkqtk BC ij 
dksbZ fcUnq gS] O dks A ls feyk;k tkrk gSA ;fn P vkSj Q Øe’k% OB vkSj OC ds e/; 
fcUnq gSa rks DE QP gSa ,d % 
 (a) oxZ         (b) vk;r       (c)  leprqHkZt   (d)  lekarj prqHkZt 

D and E are the mid-points of the sides AB and AC of ABC∆  and O is any 

point on side BC, O is joined to A. If P and Q are the mid-points of OB and 

OC respectively, then DEQP is : 

 

(a) A square  (b) A rectangle  (c) A rhombus (d)  A parallelogram 

 

https://byjus.com/?utm_source=pdf%20click
https://byjus.com/?utm_source=pdf%20click


 

25.  lekarj prqHkZt ABCD esa dks.kksa C rFkk D dk ;ksxQy D;k gS\  

In a parallelogram ABCD, what is the sum of angles C∠ and D∠ \ 

(a) 090     (b)  0120       (c)  0180       (d) 0360  

 

26.  ,d lekarj prqHkZt dk ifjeki 22cm gSA ;fn cM+h Hkqtk dh eki 6.5 cm gks rks NksVh Hkqtk 

dk eki D;k gS\  

The perimeter of a parallelogram is 22cm. If the longer side measures 6.5cm, 

what is the measure of the shorter side?  

(a) 15.5 cm   (b) 4.5cm       (c) 6.5cm      (d) None of these  

 

27.  vkÑfr esa BC o`Ùk dk O;kl gS rFkk BAO∠  = 060  gSA rc ADC∠  cjkcj gS % 

In figure, BC is a diameter of the circle and BAO∠ = 060 , then  ADC∠  is 

equal to : 

 

 

 

(a) 030     (b)  045       (c)  060       (d) 0120  

 

28.  nks fcUnqvksa A vkSj B ls gksdj 3cm f=T;k dk ,d o`Ùk [khapk tk ldrk gS] ;fn   AB = 

6cm gSa %       

(a)  vlR;    (b) lR;  (c) a vkSj b nksuksa   (d)  buesa ls dksbZ ugha 

A circle of radius 3cm can be drawn through two points A, B such that AB = 

6cm : 

(a) False      (b)  True     (c)  Both a and b   (d)  None of these 

 

29.  ,d f=Hkqt ABC ftlesa AB = 4cm vkSj A∠  = 060  gS dh jpuk laHko ugha gS] ;fn BC 

vkSj AC dk varj gS %       

The construction of triangle ABC in which AB = 4cm, A∠ = 060  is not 

possible when difference of BC and AC is equal to  : 

(a) 3.5cm      (b)  4.5cm     (c)  3cm   (d)  2.5cm 
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30.  ghjksu dk lw= gS %       

The formula of Heron’s  : 

(a) 
2

a b c+ +
       (b) ( )( )( )s a s b s c− − −     

(c) s ( )( )( )s a s b s c− − −     (d)  buesa ls dksbZ ugha (None of thse) 

 

31.  ,d f=Hkqt dh Hkqtk,¡ 41m, 40m vkSj 9m dh gS] rksa bl f=Hkqt dk {ks=Qy gS %      

The sides of triangle are 41m, 40m and 9m, then the area of the triangle is : 

(a) 290m       (b) 245m   (c) 218m     (d)  2180m  

 

32.  ,d ?kukHk ftldh yEckbZ = l, pkSM+kbZ = b vkSj m¡pkbZ = h gS dk laiw.kZ i`”Bh; {ks=Qy gS %     

A cuboid whose length = l, breadth = b and height = h, has total surface area : 

(a) lb bh hl+ +                     (b) 2 ( )h l b+       

(c) 2( )lb bh hl+ +                 (d)  buesa ls dksbZ ugha (None of these) 

 

33.  ,d xksyk ftldh f=T;k = r gS] dk i`”Bh; {ks=Qy gS %      

A sphere whose radius = r, has  surface area : 

(a)  34

3
rπ    (b) 3

rπ      (c)  24 rπ   (d) 22 rπ  

 

34.  ,d csyu ftldh f=T;k = r gS] vkSj Å¡pkbZ = h gS] dk vk;ru gS %      

A cylinder whose radius = r and height = h, has volume : 

(a)  2
r h    (b) 23 r hπ      (c)  2r hπ   (d) 22 r hπ  

 

35.  ,d v/kZ xksykdkj xqCckjs esa gok Hkjus ij mldh f=T;k 6cm ls 12cm gks tkrh gSA nksuksa 

fLFkfr;ksa esa xqCckjs ds i`”Bh; {ks=Qyksa dk vuqikr gS %      

The radius of a hemispherical balloon increases from 6cm to 12cm as air is 

being pumped into it. The ratios of the surface areas of the balloon in the two 

cases is: 

(a) 1 : 4    (b)  1 : 3   (c) 2 : 3   (d) 2 : 1 
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36.  feyku fpUg IIII   IIII  dh ckjckajrk gS % 

The frequency of tally marks IIII   IIII  is : 

(a)  5    (b)  6     (c)  8  (d)  9 

 

37.  vkadM+s 0, 5, 9, 3, 12, 15, 6, 7, 8 dk ifjlj gS  % 

The range of datas 0, 5, 9, 3, 12, 15, 6, 7, 8  is : 

(a)  12    (b)  15     (c)  65  (d)  9 

 

38.  oxZ varjky 10&20 dk oxZ fpUg gS  % 

The class marks of class interval 10 – 20  is : 

(a)  10    (b)  20     (c)  30  (d)  15 

 

39.  ,d vlaHko ?kVuk dh Ákf;drk gS  % 

The probability of an impossible event  is : 

(a)  1    (b)  0     (c)  
1

2
  (d)  2 

 

40.     ,d fuf’pr ?kVuk dh Ákf;drk gS  % 

The probability of a certain event  is : 

(a)  0    (b)  1     (c)  2  (d)  3 
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